NHMBHRICE T HIERMNTHRFAREAEDHER

=n 1cm 50cm 1m = R o o 1 %

No HEE ENE | BAE | BIVE [ BAE | BIME | BAE BREAESH | N2
1hRFEHRBE 0.05 0.06 0.05 0.06 0.05 0.06|EmHEAMRE LT 5
A0#FT LAFEREE 0.05 0.07 0.05 0.07 0.05 0.07|%2=ZREZER 5
JFFEREE 0.04 0.05 0.04 0.05 0.04 0.05|AvO=FmoniE 5
MRFE—FEREE 0.05 0.06 0.05 0.06 0.05 0.07|=FEMsER T 5
SIEEZFEREE 0.06 0.07 0.06 0.07 0.06 0.07|dLEBR/ENT 5
6lItFE—FEREE 0.05 0.06 0.05 0.06 0.05 0.09|5 A 5
NItE—FEREE 0.05 0.06 0.05 0.06 0.05 0.06|ILB3 »Fkr 7
S LFEREBE 0.05 0.06 0.05 0.06 0.05 0.06|dFEEHE LT 5
IEE—FEREE 0.04 0.07 0.04 0.07 0.05 0.06|2FEXMEAIRENT 5
N EE—FERBE 0.05 0.05 0.05 0.06 0.05 0. 06|==%pni 5
NMAHBAZEREE 0.05 0.07 0.05 0.06 0.05 0. 06|#EkiE 5
RIRARFEREE 0.05 0.07 0.05 0.06 0.05 0.06|2=4dxA 5
BIEEFEREE 0.04 0.06 0.04 0.06 0.04 0.06|2=EmEARME T 5
4 EAREEREE 0.07 0.07 0.07 0.07 0.07 0.07|srnfmrEd 5
15| TEFEREE 0.07 0.09 0.06 0.09 0.07 0.09|%2=mEARME T 5
16| FEAFEREE 0.04 0.05 0.04 0.05 0.04 0.05|#ITZEB< 4 nFR 5
82




